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Objekt Tip A

elenic:
95 m?

lop:
8,7 m?




NASELJE ROZNODOLSKA 2 MARIBOR | TIP AinB

PRITLICJE
A_P1  VHOD 5,12
A P2 WC 2,59
A_P2* UTILITY 3,18
A_P3  SHRAMBA 2,66
A_P4 DNEVNIP. 31,90
A_P5  KUHINJA 7,54
A_P6  KABINET 6,60
> 59,59 m?
| NADSTROPJE
= A_NT STOPNISCE 5,70
A_N2 HODNIK 4,31
A_N3 SPALNICA 14,02
A_N4 GARDEROBA 11,47 . _
A_N5 KOPALNICA 7,78 Objekt Tip B
A_N6 SOBA1 12,76
A_N7 SOBA2 12,31
68,35 m?
SKUPAJ 127,94 m? Objekt Tip A
PRITLICJE B
B P1 VHOD 5,34
B P2  WC+UTIL. 6,04
B_P3  SHRAMBA 2,66 j
B_P4 DNEVNIP. 31,60 . |
B_P5 KUHINJA 7,54
B_P6  KABINET 6,60 B N4 ‘ BN3
59,78 m? H:
“-| NADSTROPJE
= B.N1__ STOPNISCE 5,70 ‘ \
Ep e oo 2 | -
B N4 GARDEROBA 11,17 [
B_ N5 KOPALNICA 7,78 f I —
B N6  SOBAI1 12,76 BN2 / BN
B N7 SOBA2 12,61 - @
68,35 m? i | : \
SKUPAJ 128,13 m? — — BN : a‘
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